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10 oot

1.1 O00oogoooboogood

00 1.1 200006 b0000000000O0 e, b0000000000( (a,b)
O0000(e,b)=10000«¢0b00000000000O0

00 1.1 200004, b @+ #0)00000(a,b)=d000 aut+bv=d0O
00000w v000000b£400000w0000<u<|b|0000000
0000000000

OO0 1.2 00000200006 0000

ar=1 (modbd) (0<z<]|b|)
gugddducgogouobooobobobbn
011 p0000000pta0OD

ar =1 (modp) (0<z<p)
guddddbd0ogoobooobobbbn

00 1.3(00000000) »r000000 py,pe,...,p, 0000000000
00000r0000 a,a9,...,6¢, 000043 (1<i<r) 0000 (a5, p) =10

OO00O0b0oboobooooooooDoon b,be,...,0000000O00OOO

ax = by (mod py)

asx = by (mod po)

b, (mod p,)

a,x

obooobobDoobDO0O M=ppe---p, DOOO0ODOOODOO



00 1.2 00000.-,00000,000000000000r00000000
000000 ¢(r) 00000000 ¢(r) 00000000000

00 1.4 0000000 pMps2---p* 00000

a1—1 ao—1 ap—1

on) = @ —p" )@ —p” ) (R )

1 1 1
= (=) (-2)+ (-5)
b1 b2 Pk
oo OdooOoonDO go(n):n—lDDDD(p(n“):na—n‘“l
oggno

01220000006 00000000 ¢(ab)=e(a)e(d) 0000
00 1.5 00000.0000

n=> ()
din
ooooon
00 000 f(p) 0000000 (m,m)=1000 f(mn) = f(m)f(n) 0000
00000d|mn 000 d=dds (di | m, do |n) 0000000000 1.200
oo

flmn) = > > ¢(dids)

di|lm da|n
= Z ZQD(d1>90(d2>
dilm da|n
= Z ¢(dr) ZSO(dz)
dilm da|n
= f(m)f(n)

gooboodptgogd

ﬂﬁ)=:§:Mﬁ)

k
= 1+) (-1
=1

gboboboogobbbuooobbbuoooobobouoonbobo 0J



1.2 0O00O000O0O0OO0O0OOO0O0OO0O0O

00 1.6 (00000000) D000 pO0O00000000aO ptabDOOOO
a’'=1 (mod p)

gooooo

13 00p0d0ddbbleddnn
a’? =a (mod p)

gooooo

00 1.7 (0000000) n000000e0n000000000O0O0OCDOOO
gdgd
a?™ =1 (mod n)

gbooooao

00 M={r,r,....,1oe»}0n000n000000000000000O0O000
0000000 M = {Mod(ary,n), Mod(ars,n),...,Mod(arymy,n)} 0000000

CL(’O(n)TlT'Q Ty =1rirg- - To(n) (mod TL)

0000a™ =1 (modn) DOOOOO O

0142000000000000020000000000000O00O000000O
dd0eJ0000O00O0de—10n00000000p00O000p—1000
O00000000000de=1 (mod p(n)) DOID00000000 00000
a®*=a (modn) 00DOO0ODO

00 00000000000RO0O0O00p0000a*=0a (modp) 00000
000000 p000000000p|e000a*®=0a (modp) 00000000
ptad0000de—1=k(p—1)00000000 1.6000a% = {a*}ra=a
(mod p) 00000ODODO0O0O0O0OOOOD 0

01.500000000p, ¢g00000n=pg 00000000d, e00000
de=1 (mod ¢(n)) 000000000« 0000 a*=a (modn) 000000



1.3 000

000000000D000000000000000000000000000
0000000000000000000000000000000000000
0000000000000000000000000000000000000
0000000Z0000e=bmodm D0000000000200000 m0O
00000000000ZO00000000000mO0000000000000
00000000000000000000mO0000000000000000
000
Z/mZ 000  Zn

000000000z, 000000mO000000000000000000
{0,1,2,3,...,m—1}000000000%Z, O
{[K] [0S k=m—1}

gobobooooon
oboz, dbbgoboboobobgobobobooboboooboooobbo
goo

K]+ [1] € Mod(k + j.m)] (0 k,j<m— 1),

gboboboooobboogd

K] % (7] ([K]) € Mod(kj,m)]  (0<k,j<m—1).

gboboboooobboooobbobooooboo

Wrm+ - +W=nk, K=1-k, ok=[

00000 K°=10%k>0000000000000

00 1.8 %, 0000000000000 0000O0 (commutative ring) 0000
gooo

() OODoDOoooooooooo



(2) 0000000 (group) 000
(3) 00000000000000000

(4) 000000000

00 190<k<m-1000k0000 [j]k=[)00000<j<m—-10
00000000000000 (k,m)=10000

00 00000000 120001<j<mOkj=1 (modm)000000
000000 [k =[1]00000000000jk+6m=10000j ¢00
00000000000000(Gkm)=10000 0

00 1.3 [1]€z, 0000000000000 0O0010000000@€Z,,, O
O0000Ba=10000 0 000000000000000 0000

00 110 Z5, = {[k] |1 <k<m, (k,km)=1} 000000Z, 00000000
(group) OO OO

00 (k,m) = (jym) =10000¢ = Mod(kj,m) 0000 (¢,m) =1000
0000(@¢m) =d > 1000000000k =tm+(¢=kKdODOODOOO
(k,m)=(j,m)=1000000 -

00 14 0000000GUOOeO000O0GC"=¢e(GOOOO)O0DOODOOOO
O00000000000000n0 e000O (order) OO0

00 111 000 GO0« 0000nDO000d =e000n|r0000O

00 r=qg+i(0<i<n)00000a"=e000d =e00000n0a0O

gbbbuodgbobb.=00000000000 0J

OO0 112 000 GO0O0O0O0G bOODOOODOOOm, nOO0D00O0ODOOOOab
gbobbOmn O00OD



00 «b0000dO0OO0OO0O0O 1.1100d|mn0000d<mn000000
DDmn:deDDDd:dldg(d1|m,dg\n), k‘:l{?lk‘z(m:dlkl,n:dgkg)
O0o0b0db00dOd, =n 000000000

e = (ab>dk1 — (ab)d1d2k1 — (ad1k1)d2 bd1d2k1 _ bd1d2k1

000000000 1.11000n | didek, 00000 n|d, 0000n=d, 0000
000d,=mO000000000

e = (ab)dk2 — (ab)dldsz _ ad1d2k2 (bdgk‘g)dl _ ad1d2k2

000000000 1.11000m | didek, 00000 m|dy 0000m=4d; 00
00000000d=mn 0000

00113 000¢GU00O0O0D000oo0oMMUOoboooobobooboobo M OO
goboo

00 «e€GUOOODOgOOO0OO0OOMOOOOOMOOOOOOOgtMOOO
O0DK={¢y,M} 00000000 K>MOOOO

K= dldg, dl | g, dz | M, (dl,dg) =1

0000d, d;, 00000000000A =a%%, hy =M 00000h, he
000000000 d, d, 00000000000(dy,dy)=100000000
0 1.1200000mhh, € GOOOO didy ={g,M}y=K=00000000 M
0000o00o0o0ooooooog O

0o 15 p0000oozZ,0F 00z, 0F 0000

00 114 pO0000000F 0000000O00000O0O0C00000000
DD(Commutativeﬁeld)DDDDF;‘Dp—lDDDDDDDDFIj‘DDp—lDD
0000000000000 00000000000000dOnn (@) 0000
gobobooogbbbuoooobbbogoobbogo

o0 oDobobobobooooobobooouooobob redbooboon
Oaee k0000 ~'=100000000 1110000 Froooooood
Op—10000000ece F; 0000 dO00D000000A={d |1Zj<d}



D0000000F 00000d00000B={d|1<j<4d, (jd=1}0
0(d000000000000000d00000000 X—1=0000000

d

X'—1=[]x-ad)

=1

D0000000dO000000 ADODDOODODOOODOOOd (j,d)=k>10
D000 j=kj 00000{a}* ={a¥}=1000000000d/k000O0
00000(j,d)=100000ju+dv=1000000w0v0000004 0000
d<d00000000000000a% = a?0vtd) = q@iugdd = (g7 )u(qd)?v = 1
D000e¢D0000dO00D000D0000D000D000000000000d]|p—1
00d000000000000000000

() 00d000000000000 ¢(d)
(b)) 004000000000

DDDDDF;DDDDDDDDDDDDCHp—lDD d0D0D00 A;={00 dO
000000 }}00000A;NAy=9¢iffd#d 0000

Fr= | Aa

d|p—1
O00000000dO000000000000000 #(4g) =p(d) 000000 1.5
0000 p—1=4F) = Y4 19d 0000000000d|p-10000
#(Ag) = ¢(d) 0000000000000 00000d|p—-10000 Ay #¢00
0 1.6 F;DDDDp—lDDDDDDDDDDDDD ep—1) 0000

oo 16 Fy000p—-1000 F;, 00000000

017 F; 00000 ¢ 0000 ¢/ 0000000000000 000000
(jp—1)=10000

00 1.15 00000p, ¢0000n=pg 000000
Z = 7, X 7,

gooobood



00 Z,000m0O Z,xZ, 00 (Mod(m,p),Mod(m,q)) 0000000000
Z,xZ,000000000000000000000000000 f(m)000
000000000000000000000000000

1. f0Z,0007Z,xZ,0000000000000000 Chinese Remainder
Theorem OO OO0

200 fO002Z,0002Z,xzZ, 000000000

OO0 116 00000 p, ¢gUO0O0ORn=pg 000000000 Z; 000000
g=LCM(p—-1,¢q—1) 00000

00 Z,07,00000000000¢, b00000(a,b)9=(1,1,)00000
Oo0O0O0O0OO0O0O0O00O000O00OD0DZ 00000 ¢ 0g¢g0000000¢ <y
0000O0q,e, 000007%Z,Z, 000000004 00000000

(apa@q)g/ = (1p, 1) = (ail,a‘;’/)

00000000000000000O0aq,,, ¢, 00000000p—-11¢',9q-11¢
O00D0000D00oo0oooooonDgsSdJ0O0000D00000ODOOOOO0O
O¢=¢g0000 O

00 1.1 0000000000000000 pu,pi,...,p, 0000 n=pips---px
000000000000000000000

Loy = gy X Lipy X ==+ X Ly,

00000000002 000000 g=LCM(p1—1,p2—1,...,pr—1) 00
ooo

1.4 0O0O0O0O



20 0ODooudgd

21 0O0O0O0O

gbobobuogobobboooobbbooogbboboooobbbuoogbon
gboobooboobgoboobooboobooboobooboobon
gbobbuoooboboboooobboooobbbuooobbboooboboboo
gbobboboobooboobooboobo

ooboobooboobooboobooboobooooboboobpoQooog
Oooo0ooOooooooobobooooooOoooboboOoooDoboOooDooaQUOooOoO
0000000000000 f:Q— NOOODODODODODweQOOOO f(w)
ODwiDOODOODOOOODOODOOOOO0OO0 f:Q— NOOOOOoOoooooooo

00 21 0000000000 O ={A,B,C,...,Z} 000000000000
0000000000000000000000000000000000000
000000000000D00000 f£(A) =0,/A(B) = 1,(C) = 2,/A(D) =
3,....fi(z)y=2s0000

OO0 22 000000000000, 0000000nO00000D000O0OO0ODOO

oooooo
n O

QQZQIX91X"'XQI

00000000000 000000-,000000000000004(€) =26"
gbgbobobbogubooobobboobuodgboboboboobogbonobo
gbobobooboobobuobobuiobobiuidilDODUw = wjwaws -+ - wy
00000000 f(v)D00000O00O0OO

fo(@) = filwr) + fi(w2)26 + f1(w3)26” + f1(ws)26° + -+ + f1(w,)26"

gobboooobobooooobuoooobbboooobbbooobooboboo
goggbbbuoooobbbooobbboooobbbooooboo
gbooboooobobobooooboboooon
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00 23 (000000) 00000000 Q00000000 /00000 P=
amag---a, 000000 C=bby---0b, OOOODOOOOOOO

b; = a; + 3 mod 26 (1=i<m)

00 24 (000000000) 000000009, 00000000 ;0000
000000 v=wwy-v, 000000 P =aay---a, 1d00000000
000000:00000000 P =ayan---ay 0000000000000
Ci = bibig - - big [

b,-j:aij+vj mod 26 (1§j§d)
ooooboboooo pOODOOOODOC=C10y---000000ODO

00 25 (00000000) 000000000000 OO0DOOOOOOOOO
O00eDO26000 (a,26)=10000000b02600000000000
Oo00boo0o0bb00weO0O0OO0DOOODOO

¢ = aw + b mod 26

000000000000 000000oDooouo0n (e,26) =10000000
oboboboobooboobooboobobooboobd

00 26 (0000) 00 2400000000000000000000d0O0O
ObOo0o0obooboboodbdotb e D0000b0ob0D0 KOOooobooo
O00000O(1) DoooODODODO 100002 ODOD100000O00000
O0000@) 000 1000000000000000000

bi:Kai
oooooogoo

OO0 21 0000000OQO0000000P, CcOOO0OO0OODOODKODOO
00000PO0COO00 fx 000 (f,P,C)0 KOOODOOOOOODO
O000000POOOOODOfk(P)CCOOOODODOOOODO

0000 PePOOODO fx(P)eCOOOOOOODODODODO (encryption) OO
00000 fg(P)OOOO POODODODOOOODODODO (decryption) 00 OMM OO
guddooooooobbbbuoooooo

11



00 2.2 KOOOODOOOODOOOOOOO (f,,P,C) 00000000 PePO
000000 fx(P) 0000 POOOODOOOOOODOOOOOOOO fx(P)
0D0POO000 f,000000000000000DOO0O0O0O0O0O0O0OOOO
0000000000000

fo(fx(P)) =P Pe?p

O00000000000000000K, DbOOOOOOOO fx(P), fp(C)OO
gboboobooboooboobobboobooboobobboboobOon
gboooboboobobn

o0 230000 KOODODODO ppOOOOooDoOoooooobooooobobooo
gbobbooggbbbuooobbboooobobuoooobobooboogn

0000 230 260000000000000000000000000000
0000000000000000000000000000000000000
00000000000000000000000000000000000000
00000000000000000000000000000000000000
0000000000000000»-,00000n(n—1)/20000 (K,D)00
0000000000000000000000000000000000000
0000000000000000000000000000000000000
00000000000000000000

2.2 RSAOOOOOO

O0000000 RSAOOODOOODO Rivest, Shamir, Adleman 0 300000
gboboboooobbbooon
goboboogoobboboooobbboooooooo

b 24 000000000000O0O0DOOOO0OOOOODOO0ObOOObDO
gbobobooogbobobooogobbobooodd

00000000 RSAODOOODOOODOOODODOOODODOOODODOO
gbbbuoodgbbbuoooobboooobbbooobbbooobbboo
gbobbooobobboooooboooobbbooobbbooooobooboo
gboboooboboboooobo

OOORSAOODOOOOODOOOOODOODOODODODOODODOODOODOO
gbobobodbooboobobopPUObObbOObLOODbOO0DODDbDODO Np
gooobogo
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O000000000000000000000000 (Alice) D00 (Bob)O OO
gboboboooobbobuoooobbbuoooobobooooooboboon
oboboboobooboobooboobobboboobooboobb

(A1) 00D0D0O00000000000p,, 000000000 10000 3000
00000000000 ns=paga 000000

(A2) 0000 n, 000000000 ¢(na)=(pa—1)(ga—1) 000000

(A3) 0000 o(ny) 0000 (eq,0(ny))=1000000 e, 00006, 000
0000000000

(A4) 0000 ¢(ns) 0000esds =1 (mod ¢(ny)) 0000000d, 00000
000000000000

(A5) 000D pa, qa, ¢(na), d4 0000000, 0 e, 00000000

gbobbuooobbobuoooobboooobbbooobbboooboboboo
O00000000000000000 {na,ex} 000000000

gbobobuogobbobuoooobboooobboboooobbboognoon
gobd

(B1) 000000000000000000 {nu,ex} 000000

(B2) 000000 ODO0OO0ODOOODOO POOOODODOOC=P4modn, 0000
oocoooooogn

000 cCcOoooooooaono
D = C% mod nu

000000000000 1.700 1400000D0=P0O00000OO0O0O0O
000000 POOOOOOOOOOO
O00eys0n,00dy00000000000000000de,00d,000
D000 ¢(ny) DO0O0OD00O0D00000000 g(ny)000000n,0000
00 paqa 000000000000000000000¢(n4) = (pa—1)(ga—1) =
paga—Pa—qa+1l=na+1—(pa+qa) 000000¢(na) 000000pa+qa
D0D00D00D00D00D000O ny (=pags) 0002000000000000
Opa, 0000000000000 0n, 000000 pagu 000000000
D00000000000000000000000000000p,, g4 0100

13



gb3000000000000000na00p4, ga 00000000 O0DOOO
gbobooooobooaoobo

0000000000000 0000000000000000{e,dy0000
gbbboooobbobuoooobboooobbbuooobbboooboboboo
oboobon

RSAOOODODOOODOOOOOOODOOODDOD

00 27 p=19, ¢q=3100000n=pg=589 0000n=530 000000
000 ¢(n) Dew=540000000000000000e=3700000d=73
Ded=1 (mod ew) 0000d=73000000000000000000000
00000000000 n=5800000=370000000000000
0OPL=3700000000000000000000000000000

CY = 375° mod 589

O00000CcY =451 00000000000 CY 0000000oooogcCcy
O0ooooooon
451% mod n = 375

gooboooon

00 2.1 00000p, ¢q000000|p—¢ 0000000000000000
oooo

b 22 00000p, ¢gUDOUOOO0OO0DOODODOOOOp0O00O0O0P—-10
gooboboobbooddooodobn=pe0ggooonbobobobbooogg
gobobodgo

gb 23 0000000000b000bbuoodbbuobobbdna0boon
gboobooogn

23 UO0OO0OOOOO

gbobobuogoobbtbooooooboooobbboooobbboooooon
gbbogugbbuodgbbooboouobboobbooboooobboobn
goboboooobbboooboboooobbbuooobbobooooboo

gbbbuogobbbuoooobboooobobboooobbbooobon
gobbooobooboooobobuoooobbbooobbbooobobooboo
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OO00o00o0oooo0o0oo0oOooooDooooDObOogRSAODDOOOOODODOO
gboboboooobboood

Casel. 000D (A)DOOOOOOOOOOODOOOOD POODO B)DOOOO
oooooooo pPODOODOODO MMOODLDOOdaO00O00D000DOOO
O0000O00DO POODOOP ODODOO0ODOOODOOOODODOO0ODDOOOOO
gbbobuoooboboboooobo

C = P'" mod np
godoooooooooooooobooboobobooboooo
D = C% mod ng

Oo00CoOoOopPO0OCCOOOOOO00OO0O00O0OO0OO0 sig0OOO0OOOO
0000000000000 000000000 {ea, nay 0000

sig® mod ny = [fn™ mod n4]* mod ny = fn

gbobbuooobobobuoooobbboooobbbuogobbboognoobooboo
gogooobobobbbbbbbbbbbbbbbbbbbbbbbbbboo
gboboboooobboooobobod
gbbbuoobobbooobobbbooodbbbooobobbboooobon
gbobboodgbboboooobboooobbbogobbboooboboboo
gbbbuoooobbbuooobboobbbuoooobbbuoooobboan
gbobbuoogoboboooobboooobbbogobbboooboboboo
gbbbooodgbbbuoooobbboooobbbooobbboodobboboo
gbobobooogbbobuooooboboooobbboobbuoooobbooo
gbbbooodgbbboooobbboooobbooood

Case2 0000000000 POOOOOOOOOOOO00OOOOO0O00O
RSADDDOODOOOOOO0O00O K = (n,p.q,a,b) ab=1 (mod p(n)) 0000
000 (ne) 000D0D0DOODOOOO

sigg(P) = P" mod n

0000000000 (Psige(P)) 00000000000 0000000 (n,a)
gogd
P = {sigp(P)}* mod n

gbooooao
goboboooobboboooobbobooo
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00 2.5 0000 (signature scheme) 000 000000000000 (P, AK,S,
Vy)oooooooo

1 POOOOOOO0O (message)DOODOO
2 A00000000 (signature) J0000
3 KOODOODOOOO (keyyODODODOO

40K e KOOOOOsigyr €eSO000000000O0OO (signature algorithm)
O00000000000000 (verification algorithm) verx €V 0000000
sigg : P — A O wverg : Px A— {true,false} 0000000 PePOOODOO
O0YeAODODODOOODODODODODODODOOODODOO

true if Y = sig(P)

ver(P,Y) =
(BY) {false if Y # sig(P)

O00000D000D000O0Case200000
Y = sigg(P) (= PPmodn) < P=Y“modn

000000000000000000(=)0000000000 14000000
(<)0oooooon

24 O000O0O0OOOOOOO

RSADOOOODOOOOODOOOODOOOODOOOOODODOODOOOOO
obobobooboobooboobuoobobbobbooboobooDbon

ooooobooooooboboobobobobbobobobobobobo
obooobobooobbooobboobobooobbooboooboboon
gbgboboboobooboobooboboboboobooboob

§1.300 le0O0O0bbOObOOOLOpOOOOODOD F;O00O000DOOP—1
gbooboobo

00 28 p=170000 F,000000003,5,6,700 ¢(16)=800000
O0000g=30000¢" (1<:¢<16)0000000000000000000
oogd

z"12345678910111213141516
¢g¢13 9 10 13 5 15 11 16 14 8 7 4 12 2 6 1

16



00000000 ¢0:000000000¢ 0000000g, i000000
00000000000000000p000000000000¢0000000
l<y<pOODOODOOO

y=g¢'
0000:000000000000000000000000000

= 374628092193991
g = 465746509

ooooon
¢' = 210141791579293

gbbd.0b0000ugboboooguooobboobboboobboonobon
1 = 46272790174016
gooo

Db 26 OO0 F;O000000g 000000000l <y<pUOO0yOO0O0O

7

y=9
gbbb-.000o0bbboodobobboaao

pOOO0O0O0DOO0ODOIOODDOSODO000O0DOO00OODOODOO0ODbLOn
00000000000000000000+000000000¢ 0000000
gbbbuoodgbobboooobbboooobbbuooobbboodobbboo
gboboboooobbbuoobboboogobbobuooobn
gbbbogdgbbbuoobobbooodgbbboooobbboodbon
goooon
gbbbooodgbobboooobbbboooobobbboooboooobon
OOoobOoboOooooboboo QuobooQUobobooobooboobo OO
Frudibgboubobboootdbpbibgtbboouooubobg
000000 A0DD0OQODOOO00000000 a4 (aa<p—1)000

a
eq =gt

O0000e,00000De, O00O0D0O0ADDOOODODOe, 00000 a400
gobbooooboboooobboooobbbooobbbooobobooboo
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gbobbobbbooodgbbbbouoooobbbbdooouoooobbboao
0000000000000 0O0OO000UO00 (A 0DO0DO0(B)OOOOOOOO
OOoo0obOobO pPOOOOOODODOODOOOOOODODODOOO

() O0kDOD00O000AOD0O0O0O0O0O0O0O0O00000O0O0O0O0¢ 000000
000000000000 ez 000006,000000000 Pk =Pgesk 00
0000

(2) 00000000 (¢% Pgest)y 0000

000 (¢% Pg*s*) 0000000000000 0O0O0O0O ez 00000000

{gk}aB — gaBkJ

000000000000¢g»* 000 ¢ 00000000000 Pgee* 000
000000000 POOOOOOOOCOOOOOO
00000000000000000000 (¢f, Pges*) 00000000000
0000000000000 es=¢* 000000000k 0000000000
¢ 0000000000000¢ 00 k0000000000 0000000
0000000000000000 ¢ 0¢» 0000000000000000
0000000000000000000000000

Diffie-Hellman 000 ¢* 0 ¢ 00 ¢ 000000000000000

obooboboboboboo pPO0Ob0O0O0ODO0ODbDO0ODOODOOO

0ob 29 000000000000 000000DLO0ODOO0O0bO0O0p =430
oboobobodbg=8O0O00O0DODOODODODOOODDOOODDO P=37T0
oo0ooobooooboboOo kbObO0OOODDbOODbOOODbO0ODDbDOOO
ap =25 0000000000 eg =g =300000¢F =180 =280000
g*eF =30 =29000000Pg* =41 0000000000000 (28,41) 00
000000000000000000 {¢*}sr=29000000000g %% =30
O00Pge* =41 000300000 P=37000000000041x3=37=P
gbooboogoon

gboboboooobbbuooobobbobooodd

18



00 210 0000000000000 000
p = 57390219840184391, g = 5785576927204
obobobooboooboooboobuooboobooo
ap = 4758509309309, ¢*# = 53174298763394825

O0O00b000obO0 P=67847753004982 00000 DLO0DOOO0DLOO0ODOO
000000 k=4839209303009409 DO O OUODOODO ADODODODODOO g8
gooo

g" = 20471503608461237, ¢°#* = 48354733724204630

obooooboon
Pg®s*F = 20959492184555032

000000000000 (¢% Pges*) 000000000000 OO0OOOOOO
gbobbodaep0nonon

{g"Vo8 = ¢"B% = 48354733724204630, ¢ *#* = 23183998621650890

00000000000 Pges* 000000000 P =67847753004982 00 00O
gobobooogon

2.5 OO

gbbbuoodobobbboooobbboodobbboooobbboodbbon
OO0b00oO00obO0oobOooboooboOobooboATMOOODOODOODOoDOO
gboboobooboobobbobooboobobbobooboobon
gboboogbobuoooobbouoognobobooon

obobodobooboobobooboobobbobbobooboobo
gbobobooobbobooobobboooobbbuooobbbooonoboboo
oboooboboobobn

gbbobuoooobbbooogbbbuoooobboooobbbooogoon
oboboobooboobobboobooboobobbobobooboobon
gbobbooogbbobooobobbuoooobboooobbbooogbobooboo
gbobboboobooboobooboobod
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00 211 (0000000000000000) 000 (A)000 (B)0000OO
000000000000000000000000000000 POOOOOOO
000000000000000000000000000000000 000
FrO00000¢0000000Y000000000000000 ay, gy = g™
000000000000000000000000000

() 0000000000000 ¢ 0000000000000 o, 00000
e(A,B)={gp}*» 00DODODOO

(2) 00000000 Pe(A,B)000000000000

(3) Pe(A,B)000000000000000000000000000000O
000000000000000000 g4 0000¢(A,B)={g4}** 000
000

(4) 0000000 inv(A,B) =e(A,B)"' 000000000 Pe(A,B) 000
0 POOOOOOOOOOOOOOOOOOOOOOOOOOOO000O0

00 212 (RSAO0OOOO0O0ODOOOOO0) 000000000000 RSA OO
obooboooobooboboobyboobuooboooboobooy ™
gbbboddUna<np oo

(1) 0000000000000 d, 00000Py=P%modn, 000000

(2) 00000000000000000 {ng,ez} 000000P(A, B) = (P4)°
modny 000000000000

(3) P(A,B)0 0000000000000 0O0O0OdgO0000OP,= P(A,B)%s
modnyg DO OOOO

(4) 00000000000000000 {na,e  DO0O0O0P = (P4)* mod ny
00000000000000000000000000000000

00 213 (0000000000000 00O0O0O0OO) Do0ooopOooooood
gbobbobodoogobbbbooooobbbooooobobbbodabodan
gbobobooogboboboooobobooogn
p = 476929193900483
g = 435707320960
as = 07832842920927
ap = 24783703804721
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gbbbooogbbboooobbboooobbooood

ga = ¢"“* =193807912723584
g = ¢ =121037467259902

O0o0oboooboobgon P=75022090201745 00 000O0O0OO0ODOOO
gbbbudggdooobbbouodbb e 0000

e(A,B) = {gp}** = 265585636095466

000000000 Pe(A,B) =343821383397651 00 000000000000
OccuoboobooooooooboobooboooobooooboooboooDo
g OODOODDODDOOOOODOOOOOOO

e(B,A) = e(A,B) ={ga}*® = 265585636095466

000000000 e(B,A)™ = 395247222995204 0 OO0 O00D0O0OO0OO C OO
go

C xe(B, A" = 75022090201745 = P
0000000000000000000000

00 214 (RSAOUDOO0ODOOOOOO0OOOOD) O0D00D0O0OO0ORSADOOOO
0000000 {p,¢,n=pq,e(n),e,d,} On, e00000000000

{pa,quna, o(na), ea,da} = {373,607,226411,225432, 35473, 37393}
{pB. a5, n5, o(np), ep,dg} = {461,947, 436567, 435160, 73059, 333659}

oboobooboobogbo P=170373 00000000000 0OOODOOO
obooboboboooboooboboboooobobobobboobooobda o

P mod ny = 220750 (= C)
D00000000000000000 {ng,ezt 0000
C*°? mod ng = 153359 (= AU)
O00D00000000000D00000000000000000O0ds 0000
AU mod np = 220750 = C
D00000000000000000 {n4,ea} 0000
C° mod ny = P™° modny = P

gbobbobooboobooboobobboboobooboobo
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2.6 UO0OO0OOOOOOO

gbobbuogobobobooooboobbooooboboooobbbuoooonoon
Oobodbooboobooboooobobbooboboboooobos2100000
gbogboobodbuodboogbooboobooboboobuooboobo
gbbbuooobobbuooobobboooobbbuooobbbooobobboo
gbbgobogobuooboboobboobobmuoooboobobbooo
gbbbuoooobbboooobbbuoooobbbuooobbbooooboo
gbobobogoboboboogobobbooooboboooobbbuoooooon
gbbbuoobobboooobbbuooobbbuooobobboooobboo
goboboooobbboooboboboooobbbuoooboboboo
OOooboobobooobooobooobbooooooobooobooDooO s2100
O00ooooboboobooboobogbodrdictionary’ 000 0OO0O0O0OOOOOO
gbbbuoodgbbbuooobobboooobbbuooobbboogboobboo
gbooobobogboobuogbobbobooboobobobboboobaon
oboobobobooobbooooboboboobobooobobobonm
gbooboogobbbuoooobobooogd

00 2.15 (Diffie-Hellman 000 0000) 0000000000000 OOO
pobooooboooooooooooooooobp0 FpOO00OOO0OOOO
gbobobooogn

p = 5930204048231
g = 65998209817.

gbbbooobobbbooobbbuoogobobboood

as = 5720921092121
ap = 4728182390175.

gbbboogobbboodgbbbuooabobbooaod

ga = g™ =4571974152858
g = g"F =2961999623964.

O0000000000000000d(A,B)0D0D00D0D00O0OODOODO

d(A,B) = ¢**» = 3384471491518.
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0000000000000000000000000000000000000
00000000d(A,B)00000000000000000000000000
00000000dA,B)0200000000000000000000000
00

d(A, B) = (16,5,9,25,4,17,6,11,0)5 = QFJZERGLA

gbobbuoooobobuoooobboooobbbogobbbooobobboo
O00000O0D00ODifie—HellmanOOO OO0OO0ODOOCOODOOODOOODOO
00 g%, g5 00 g% =d(A,B) 0000000000000 0OODOOO

RSAOODOOOOOOOOOOODOOOOOOOOOOODOObOOOObODDOOD
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